A2 5

THES H25 8 U8 7 Eﬁ@f 13,125,000
T F 4 |l FEEERERGE TF
ALA B | FR258E10H22 H (CK) | AFLERE TS 12,500,000
ML ERE 11,400,000 ﬁfg%%%a 570,000
ZER] X% F A4 i 1[m] i Z
(PN Rk
(k) R o 5 1 R FR )
AR 12,150,000
O |HmFtEs 11,490,000
R e Hh T 32 11,400,000 F9 | AL
2 F HLR R 12,200,000
WA | AN AL FE 4 ¥ E 6tk | A L & N At




A2 5

T E A

THES H251 89 7 (A7) 18,364,500
T % 4 |MEMTHEAMRCLX) ERGE T
ALA B | FR258E10H22 H (CK) | AFLERE TS 17,490,000
AFLIREHA 17,470,000/ ﬁfﬁ%%%g 873,500
ZER] X% F A4 i 1[m] i £
(#0 EB Hh ER s iR 4 eIk
A AR 17,480,000
O |WHFEEs 17,470,000 [ |75 AL
EEHh T e
WA | AN KL R 4 ¥ HE att: | AN AL B 24t




A2 5

o e D ¥ EAM
THEES H2518 &k 535 (B A7) 6,888,000
T F 4 |[MEEE T RHEL S RE RS E TS
AFLA B | FRk25810 22 HCK) | AFLERE A% 6,560,000
TR HE B Y
AFLIREHA 6,300,000/ 45 i g 315,000
=R E A £ SlE| fi =z
W= a4 6,540,000
()= Hh4A 6,300,000 9 | AL
(AN 1| 6,500,000
wmH | AN AfL 8 4 ¥ H 3tt A fL = 3tt




